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SAMPLE PAPER - 2008

Class - X

SUBJECT – MATHEMATICS

NMTC- X –CBSE – QP, 10(Annual)     
Marks: 80                                                                                                        Time:3hrs

                                                       SECTION-A
1) Find HCF of 504 and 980.                                                                                (28)

2) Prove that √3 is irrational.  

3) Find the zeroes of 4x² - 7 and verify the relationship between zeroes and its coefficients.         

4) Find a quadratic polynomial whose zeroes are 3 + √5 and 3 - √5.   (x² - 6x + 4)

6) Determine the value of k for which the system of equations has a unique solution.

 2x + 5y = 7, 3x + ky = 5                                                                   (k ╪ -15/2)

7) Determine the value of k for which the quadratic equation 
   4x² - 3kx + 1 = 0 has equal roots.                                                    (± 4/3)

8) Find 9th term of an = (-1)n-1n³.                                                            (729)

9) If secθ = 25     find tan θ and cosec θ.                             (24/7, 25/4)    
                     7

10) Find the distance between (4, -3) and (0, 0).                          (5)

                                                  SECTION-B

11) ∆ ABC ~ ∆ DEF. If AB = 2DE and area of ∆ ABC = 56cm², find area of 
∆ DEF.                                                                                                 (14cm²)

12) In the figure find x where ∟ABO =32º.
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13) Find the area of a quadrant of a circle whose circumference is 22cm.  
                                                                                                            (9.625cm²)

14) 2 unbiased coins are tossed once. What is the probability of getting exactly one head?

15) 2 cubes each of volume 64cm³ are joined end to end. Find the surface area of the resulting cuboids.                                                                                             (160cm²)

                                                     SECTION-C

16) Use Euclid’s division algorithm to show that the square of any positive integer is either of the form 3cm or 3m + 1 for some integer m.

17) Verify that ½, 1, -2 are zeroes of cubic polynomial 2x³ + x² - 5x + 2. Also verify the relationship between the zeroes and their coefficients.

18) Show graphically that the system of equations x + 2y =5, 3x + 6y = 15 have infinitely many solutions. 

19) A shopkeeper buys a number of books for Rs 800. If he had bought 4 more books for the same amount, each book would have cost him Rs 10 less. How many books did he buy?                                                                                         (16)

20) Solve 2    2x + 3      - 25    x – 3                
                       X – 3                  2x +3      = 5.                  (6, 1)
21) 200 logs are stacked in the following manner.

  20 logs in the bottom row, 19 in the next row, 18 in the next row and so on. In how many rows 200 logs are packed and how many logs are there in the top row?

                                                                       (16rows, 5logs)

22) If pth, qth and rth term of an AP are a, b, c respectively, show that 
                                (a – b)r + (b –c)p + (c –a)q = 0

23) If cot θ = 1/√3, show that 1 -cos²θ     =    3/5
                                                  2 - sin²θ

24) Show that (sec A + tan A – 1) (sec A – tan A + 1) = 2tan A 

25) Show that the points A(1, 2), B(5, 4), C(3, 8), D(-1, 6), are vertices of a square.

                                         SECTION-D

26) State and prove Basic prop. Theorem. If DE ║ AB, find x in the figure.

  

27) Draw a circle of radius 3cm. Take 2 points A and B on one of its extended diameter each at a distance 6 cm from its centre. Draw tangents to the circles from these points A and B.

28) A right circular cylinder having diameter 12cm and height 15cm is full of ice cream. The ice cream is to be filled in cones of height 12cm and diameter 6cm having a hemi spherical shape on the top. Find number of cones required.     (10)

29) Find mean of the following data.

	classes
	0-50
	50-100
	100-150
	150-200
	200-250
	250-300

	frequencies
	4
	10
	12
	10
	8
	6


30) The angles of elevation and depression of the top and bottom of a light house from the top of a building 60m high are 30º and 60ºrespectively. Find

a) the difference between the heights of light house and the building.      (20m)

b) distance between light house and the building.                                 (34.64m)
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